
0 20 40 60 80

−
30

−
10

0
10

20
30

●●
●
●●●●●●●●●

●●●

●●

●●●●●

●●●

●

●

●

●

●

●

●

●

●

●●

●●

●●

●

●

●

●●

●●●●

●

●

●

●

●●●

●

●
●
●
●
●

●

●

●

●

●

●

●

●

●

●●●●

●

●

●
●●●●

●●●

●
●

●

●

●

●●

●●●●

●

●●

●

●

●

●

●

●

●
●

●

●

●

●

●●

●●●

●

●●●●

●

●

●

●

●

●

●

●

●

●

●

●

●●●

●

●●

●

●

●

●

●●●

●

●

●

●

●

●
●

●●

●

●
●●

●

●

●

●

●

●●

●●●●●

●

●●

●
●●

●

●

●
●

●

●●
●●

●●●

●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

t

β(
t) 

fo
r 

G
ar

ris
on

*

1 2 5 10 20 50 100

−
30

−
10

0
10

20
30

●●
●
●●●●●●●●●

●●●

●●

●●●●●

●●●

●

●

●

●

●

●

●

●

●

●●

●●

●●

●

●

●

●●

●●●●

●

●

●

●

●●●

●

●
●
●
●

●

●

●

●

●

●

●

●

●

●

●●●●

●

●

●
●●●●

●●●

●
●

●

●

●

●●

●●●●

●

●●

●

●

●

●

●

●

●
●

●

●

●

●

●●

●●●

●

●●●●

●

●

●

●

●

●

●

●

●

●

●

●

●●●

●

●●

●

●

●

●

●●●

●

●

●

●

●

●
●

●●

●

●
●●

●

●

●

●

●

●●

●●●●●

●

●●

●
●●

●

●

●
●

●

●●
●●

●●●

●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

ln(t )

β(
t) 

fo
r 

G
ar

ris
on

1.4 5.3 16 38

−
30

−
10

0
10

20
30

●●
●
●●●●●●●●●

●●●

●●

●●●●●

●●●

●

●

●

●

●

●

●

●

●

●●

●●

●●

●

●

●

●●

●●●●

●

●

●

●

●●●

●

●
●
●
●

●

●

●

●

●

●

●

●

●

●

●●●●

●

●

●
●●●●

●●●

●
●

●

●

●

●●

●●●●

●

●●

●

●

●

●

●

●

●
●

●

●

●

●

●●

●●●

●

●●●●

●

●

●

●

●

●

●

●

●

●

●

●

●●●

●

●●

●

●

●

●

●●●

●

●

●

●

●

●
●

●●

●

●
●●

●

●

●

●

●

●●

●●●●●

●

● ●

●
●●

●

●

●
●

●

●●
●●

●●●

●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

1−KM(t )

β(
t) 

fo
r 

G
ar

ris
on

1.5 8 12 30 59

−
30

−
10

0
10

20
30

●●
●
●●●●●●●●●

●●●

●●

●●●●●

●●●

●

●

●

●

●

●

●

●

●

●●

●●

●●

●

●

●

●●

●●●●

●

●

●

●

●●●

●

●
●
●
●

●

●

●

●

●

●

●

●

●

●

●●●●

●

●

●
●●●●

●●●

●
●

●

●

●

●●

●●●●

●

●●

●

●

●

●

●

●

●
●

●

●

●

●

●●

●●●

●

●●●●

●

●

●

●

●

●

●

●

●

●

●

●

●●●

●

●●

●

●

●

●

●●●

●

●

●

●

●

●
●

●●

●

●
●●

●

●

●

●

●

●●

●●●●●

●

●●

●
●●

●

●

●
●

●

●●
●●

●●●

●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

Rank(t )

β(
t) 

fo
r 

G
ar

ris
on


